10 9 8 7 6 5 4 3 2 1
22.8 L +Tol.
e} -
SW 19 - 4 505 . - SW 17 -
A ! A ﬂr 8 - 3 ®78
/ . — _XJ—\ 6 1 11 %‘ :“/ /\
///’ | Tp] J /‘
S| [T (& % 4 -
HC) ¥ 9 WL e
L) IE : \ +
= S ; — 1L E
V — 2 N r - \
10 gy
41.5
= ™ PINS PIN1
SW 13.4 WIRING DIAGRAM
YELLOW (TD+) | —— . |
1O —_ 11
N WHITE RD:) = 5 PANEL CUTOUT
RECM12 & 3 ORANGE (TD-) | . RJASPLUG 13.65"
: J : : : P
TABLE 1 4 ) BLUE (RD-) : :
MOLEX PN |ENGINEERING NO. |L [mm]]| Tol. [mm] T SHIELD /
1201080519 | ERWPAU7012M010| 1000| +40
1201080520 | ERWPAU7012M020| 2000| +60
1201088377 | ERWPAU7012M005 500 +40 /
1201088378 | ERWPAU7012M030| 3000| +60 BIN 3 2
1201088379 | ERWPAU7012M040| 4000| +60 NOTES: ®r£°’
1201088380 | ERWPAU7012M050| 5000| +60
MAX. VOLTAGE: 30V
1201088530 | ERWPAU7012M003 300| +40 MAX. CURRENT:  1.5A
1201088750 | ERWPAU7012M015| 1500| +60 PROTECTION REC: IP67
1201088751 | ERWPAU7012M025| 2500 +60 PROTECTION RJ45: IP20
TABLE 2
ITEM| QTY | DESCRIPTION MATERIAL FINISH 7 T PIN 4
1 - CABLE 2x2x22AWG SHLD GREEN | TPU . DETAIL A
SCALE 4:1
SELECTIVE GOLD
2 4 |CONTACT 10 FEMALE BRONZE OVER NICKEL
3 1 |RJ45 DATA PLUG PA - SCALE 1:2
4 1 |NUT M16x1.5 BRASS NICKEL PLATED
5 1 INSERT M12 FEMALE 4P DC BK ELASTOLLAN - SYMBOLS 'DI':AIEN[;ITS:VJzﬁSONTSIT:IZILSEINFOEI\SE'I';);;T;IE\I;RSEZECTARYTOMOLEXELECTRONICTECHNOLOGIES,LLCANDSHOULDNOTBEUSEDWITHOUTWRITTEN PERMISSION
6 1 |SLEEVE STR L25D10 BRASS NICKEL PLATED W-o| mm | 2:1 | molex
- 1 O-RING RED FPM _ g Z O UNLESS SPECIHIED) o soores
8 1 O-RING BLACK NBR - - o j,:‘iZLCZRSTOL = 2 DRWN: MMATLA 2018/12/14 REC M12 ETH 4P DC FE WSOR BM XM
9 |- |POTTING MATERIAL WEVO : V- ofimes T ppe peTacowik ozt T SUSTONER BrG
10 |1 |SHELL U12 M12x1 M16x1.5BM  |BRASS NICKEL PLATED T or | paiar REVISION: N
11 1 LABEL _ - %; Z 0 PLACES t 05 [APPR: RSILLER 2016/12/05 1201088377 PSD| 000 A1
DOCUMENT STATUS| P1 | RELEASE DATE | 2018/12/17  07:54:55 | T 0| i oreneons @ 3 |A3-SIZE | 120108 GENERAL MARKET | 1 OF 1
9 8 7 6 5 4 3 2 1




